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E-Practice 
Primary 3 Issue 7

1. Fill in the blanks with the correct numbers.

(a)	 832 ÷ 2 =  r 			      2	832

(b)	 832 ÷ 3 =  r 			      3	832

(c)	 832 ÷ 4 =  r 			      4	832

2.	 (a)	 How many threes are there in 7545? 
		  (Show your working below)

	 (b)	How many fives are there in 7545? 
		  (Show your working below)



www.add-venture.com.sg

4.	 I have a number.  When I divide the number by 9, it gives me 87 and 
	 has a remainder of 6.  What number do I have?

	 I have the number  .
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3.	 Write out the number sentence for each of the word problems below.
	 (a)	 432 oranges are packed equally into boxes of 6 oranges.  
			  How many boxes of oranges are there?

				      = 

			  There are  boxes of oranges.

	 (b)	There are 376 pages in Miss Three’s book.  This is 8 times the 
	 		 number of pages in Master Four’s book.  How many pages are 
	 		 there in Master Four’s book?

				      = 

			  There are  pages in Master Four’s book.

	 (c)	 Master Four tries to pack 660 chocolates equally into 7 baskets.  
			  (i) How many chocolates are there in 1 basket?  

				      =  r  

			       There are  chocolates in 1 basket.

			  (ii) How many chocolates are left unpacked?

			        chocolates are left unpacked.
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5.	 Master Four, Eight Jr and Miss Three shared $2715 equally.  
	 Master Four used part of his money to buy a bicycle and had $132 left.
	 What was the cost of the bicycle?

	 The bicycle costs $  .

6.	 Miss Three has 3 times as much money as Master Four. 
	 If they have $1440 in total, how much does Miss Three have?

	 Miss Three has $  .
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Answers

1.	 (a) 416, 0    (b) 277, 1   (c) 208, 0

2.	(a) 2515   (b) 1509 

3.	(a) 432 ÷ 6 = 72   (b) 376 ÷ 8 = 47   (c) (i) 660 ÷ 7 = 994 r 2; 94 chocolates  (ii) 2 chocolates

4. 789

5. $773

6. $1080


